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Q1. T cafFd garT gFaraiia vs e &, 18750 $93 Y 38 ar 91 # fysnfoa frar
ST & 3R dF & 5% 9fa a¥ ATROT SUTS W W YR AT fRAr Arar § R 12 3w 14 a§
Y 3T F 3eTah &Y T FY AT T ITod g1A1 & ST 18 T F yRuerarar yred #14 €.
YA a¢ F gIAT H Arafed i A S,

(a) 9000 ¥9Y, 9 750 TUA

(b) 8000 ¥UJ, 10750 TIA

(c) 9500 ¥, 9250 I

(d) 10000 9, 8750 T9A

(e) 3TH A g =Tel
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Q2. 9T UTSY EaRT UTelt & U & FI 1T STAT §. Tgell UISY 3 40 Asie & 31X a1 §;
@, e 3T <har v w1y 3@ 10 fAse 7 o W ¥ qEwT, e iR gt a5
20 fAsTe # s §; Aty 3tk graar w9 v a1y 5@ 30 A # sa €. I ash g aisy
TF 1T F FId § d) 3 F fFda G737 91:7 971 11 82
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8 1 minutes
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Mone of these
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7 —minutes



Q3. U A 20 WY 3R 12 gUdve TS, 37 T+ AT H7 3Hfhd Hed, a9 FeT @
15% e 3frer o, 3R v Tadve #71 3 Hea, areTa 7eT § 20 TT Hfew
e T, 38a 75% W 3R 8 TUIFE Y 3T Hew Tv =T 3K 385 TIA HT o1
wTed foRa. afe TUdRe T AT Hed, VI & d1Td Jed HT 60% § AR 3o e
AT 91 F§ Reet 7t frem, oY sae For omer ar grfar fraaht 32

(a) 355 T I gifeT

(b) 210 &9 & gIfex

(c) 250 39X FT gIfet

(d) 350 ¥UL T T

(e) 325 3UY T ATH
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Q4. WEXT 50 fretefiex it I & a1g v Tl § Brerar & 3 39 o s 1 ggma &ar .
3 dTC g¢ et qF arfer ¥ 3 af F 3w ggar ¢ 3 35 Pere A & F 9= ATqST
FYTA 9T qgedm 8. I Afdar 24 fralt 3y et at wdia 25 fare iy 38 @ 3r9at iy o
ggaar. W Ft yR A wfer A e

(a) 48 TohaY / Ter

(b) 36 et/ Ter

(c) 54 TohaT / TeT

(d) 58 fohaiT / Ter

(e) 60 fohaT / Ter
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Q5. Rt 3600 T HYeT &THAT & U & FI ITeil A 8 SATAT §1 & FI @rell FIA T 99
Y Beliadl aT, 38 EF Y s arer 9 i BFeladl e @ 20% 3f® &1 g, & Y
T H 3W el FIA H ) AT ¥ aRE AT 30 F FT AT F97aT §1 EF S gtk 99
1 FBeliadt g e S

(a) 40 g7 HY/ AT

(b) 50 g1 Y/ AeTe

(c) 60 =T HY/ fAeTe



(d) 80 TeT HY/ fA=IC

(e) 58 &1 HY/ AT
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Q6. T T T Tk WHE, T oo 7 4 €9 F1 FId §U U F14 F1 10 =it & 7 ot 8.
UF foeT 3 8 U FR FIA AT 45 TIUI FT UF 3o G GaRT FIA HT QAT Fad 7 fow
T @t e A PAT. 7 & B g5 woE F 2 w2 R A Daamr s FA
GO WG F 4 GOY 1 G F 3T F1d FIT 872

1
(@) 6 3 days

(b) ;
© 5 - days

1
d) 3 . days
(e) MNone of these
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Egdays

Q7. Tk qE&] FI fAATaT (manufacturer) 5% T AT FATAT §, AP Ao} (wholesale
dealer) 10% T ST HATAT &, 3 G fAFT (retailer) 15% FT AT FATT 8. I G
fRAFar s s@ 5313 TR A T RIr ar g $1 RAFAATT FAT (manufacturing price) AT
fST.

(a) 4000 ¥IT

(b) 4500 ¥IT

(c) 5000 T

(d) 4950 FOT

(€) 373 Q hIg =gl

L1Difficulty 3

QTagsProfit And Loss
QCreatorDeepak Rohilla

Q8. ter a¥ wge, et rfaerer & cfiet I[AT T3T Y. AT IeThY TAATST AT FHT HeTATA FHHA:
8:3 ¥, at a¥ & 3oy actTer Y F iy Foeent X 872



(a) 32 a¥

(b) 30 a¥

(c) 28 a¥

(d) 35 a¥

(€) 318 & IS gl
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QY. T STYRY & YA [IAT G 1T Hed A 20% 31w Fex 3ifFa frar. saa smen
TIH IHh AT 9T, T 1S 1 Afra AeT T 20% Y g 9 AR AY 3ifFa q[ea W
40% T FE 9T 1. 3HA Fl et amer Afora fhar?
(a) 2%
(b) 4.5%
(c) 13.5%
(d) 15%
(e) 12%
Q10. L1Difficulty 3
QTagsProfit And Loss
QCreatorDeepak Rohilla
14204 16 29
QL. FHR A TINF MT A AT IIIR. T&~ 7 [FUCUL, ATHT 2 ol U, AV
ST 11/20 ITAT 3R FIS T TT FIAT § 94T AV TR ATRAF 999 FI4T1 ¢, IS FI8 W AT
Y 71§ TR 7 AT X S Y 1€ TR { 3T 17: 8 § A Fel T > ITAT W AR
Y F ALY IHa} AT HIfAT.
(a) 164400 TIT
(b) 165400 TIT
(c) 160400 TqT
(d) 175400 TqT

() 150400 FIT
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Directions (11-15): fs=ifaf@a w&ar @en # weaaras fe (7) & T4 W F41 71T
3T AR T?

Q11. 561,642,763,932,1157,?



(a) 1446

(b) 1326

(c) 1482

(d) 1246

(e) 1426
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Q12. 1524,1443,1394,7,1360,1359
(a) 1303

(b) 1218

(c) 1359

(d) 1369

(e) 1569
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Q13. 8,24,49,85,134,?

(a) 189

(b) 176

(c) 198

(d) 201

(e) 321
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Q14. 3,10,15,26,35,?

(a) 63

(b) 50

(c) 60

(d) 54

(e) 80
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Q15. 1543,1440,1337,7,1131
(a) 1233

(b) 1234

(c) 1235

(d) 1238

(e) 1433
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Solutions
S1. Ans.(a)
Let the sum allotted be x & y.
. xMEME — pudwh
Now, x + 100 y+ 100
x_ 12
¥ 13
So, sum allotted =
X — i X 18750 = 9000
Y — % X 18750 = 9750
Sol. -
S2. Ans.(c)
Pipes Time Efficiencies(unit/min), if
total capacity of tank =
12 0unit
P14 40 min 3
P2+Pz+P4 10 min 12
P2+P3+Ps 20 min G
Ps+Ps 30 min 4

Efficiency of (P; + P + Py + PB;) = % (12+6+4)=11
(by adding 27,3 and 4% row)
Efficiencyof (P, + P, + P; + P, +P) =3+ 11 =14

120 4
Time required to fill the tank = — = 8; min

Sol. 14

S3. Ans.(a)



Let C.P. of one soap = Rs. x
C.P. of one toothpaste = Rs. y
115x

" 100
S.P. of one toothpaste = Rs. (v + 20)

and C.P. of one toothpaste = 60%; C.P. of one soap

= 5.P.of one soap = Rs

v = 0.6x
Profit on 75% of soap (i.e. 15 soap)
and 8 toothpastes = Rs. 385

115
::-?;x 15 4+ 8 X (y + 20) — (15x + 8y) = 385

= x = Rs. 100
Spol. ¥ =Rs.00 =0.6x

C.P. of 20 soaps and 12 toothpastes
=20x100+ 12 x 60 =Rs. 2720

5.P. of 15 soaps and 8 toothpastes

= (15 x 100 + 8 x 60) + 385 = Rs. 2365
And he gets no return on unsold items.
Total S.P. = Rs. 2365

Loss = C.P. - 5.P.

= Rs. (2720 - 2365) = Rs. 355

S4. Ans.(a)
Let original speed of Sandeep is= 4x km/h
Let reduced speed of Sandeep is = 3x km/h
according to question
24 24 (35-—25)
3x 4x 60
x =12

Sol. original speed =12x4=48km/h

S5. Ans.(b)



20% =1/5

~ Efficiency of filling pump is 5 & efficiency

of discharging pump is 6.

Difference of time is 12 min.

~ Time in which pump can fill= 6 x 12 =72 min.

~ Rate of delivery of pump filling the tank
_ 3600

— =50 m®/min.
72

Sol.

S6. Ans.(b
Sol.

S7. Ans.(a)

Let the manufacturing price is MP
105 _ 110 _ 115

MP x — X — X — = 5313
100 100 100
MP = 4000
Sol.
S8. Ans.(b)
(Am-3)=(Av-3)x3
AM-3=3Av-9 .- (i)
Ay B
Ay 3
Or,8x-3=3=x3x-9
Hence,x=6
~Difference =8x - 3x=5x=30
Sol.

S9. Ans.(a)



Let the C.P. of an item be x and no. of items be A.

Total C.P.= Ax
Total S.P.=1.2x Xé-l-ixix )-(E-I-i x2xxxt
2 575 a4 10 s 4

3Ax s4x 9Ax

T

_ EBlAx

Y

= 1.024x

Sol. - 2%bprofit

S10. Ans.(a)

Monthly income of Sameer

= 70000 Rs.

1
Spend on Rent = 70000 x Z
= 10000

1

Spend on Food = (70000 - 10000) X c
= 10000
Spend on (Coth + travel)

11
= (70000 - 20000) X
= 27500 Rs.
Saving = 22500 Rs.

5]

Expend on travel = 27500 x —

25
= 8800
Required difference = (22500 = 12 - 8800 = 12) Rs.
= (270000 - 105600) Rs.
Sol. = 164400 Rs.

S11. Ans.(a)
+92 +112%, +132, +15%.......
~?7=1157 + 289 = 1446

Sol.
S12. Ans.(d)

-92 7% -52 ...

A 7=1394-25=1369
Sol.

S13. Ans.(c)



Sol ~-7=134+64=198

S14. Ans.(b)
'i’} lll] 1|5 26 35
7 5 11 15
1 | | J
Sol. 2 f 2 6
S15. Ans.(b)

-103,-103, -103.........

L ?7=1337-103=1234
Sol.



